Product for aftermarket applications

DEEP GROOVE BALL BEARINGS

RODAMIENTOS FliGIDOS: DE BOLAS
ROULEMENTS RIGIDES A BILLES
RILLENKUGELLAGER

2018



A WARNING Failure to observe the following warnings could create a risk of serious injury.
Proper maintenance and handling procedures are critical. Always follow installation instructions and maintain proper lubrication.

Never spin a bearing with compressed air. The rollers may be forcefully expelled.

Note

IRB has taken extreme care in the research and production of this catalog, but cannot under any circumstances be liable for any errors or omissions. IRB
reserves the right to modify the contents of this catalog without prior notice. The contents of this catalog are the property of IRB and may not be reproduced,
in any form, in whole or in part, without written permission from IRB. Application data may only apply up to the catalog publication date shown on the
cover.

A |ADVERTENBIA' El incumplimiento de las siguientes normas de seguridad puede originar dafios fisicos a personas.

Es de vital importancia llevar a cabo unas practicas adecuadas de mantenimiento y manipulacion. No cumplir con las instrucciones de montaje dictadas por
el fabricante del vehiculo ni realizar una lubricacion adecuada de mantenimiento podria provocar fallos en el equipo.

No haga girar nunca un rodamiento con aire comprimido. Los rodillos podrian salir proyectados.

Nota

IRB ha dedicado especial cuidado a la realizacion de las labores de documentacion y elaboracion de este catalogo, pero declina cualquier tipo de responsabili-
dad por errores u omisiones en los que pueda haberse incurrido en la edicion def mismo. IRB se reserva el derecho de modificar el contenido de este catalogo
sin notificacion previa. Este catélogo es propiedad de IRB, no estando autorizada su reproduccion, en ningun modo, parcial ni total, si no se cuenta con el
permiso escrito de IRB. La informacion de aplicaciones de productos puede ser vélida Unicamente hasta la fecha de publicacién de este catdlogo mostrada en
la portada del mismo.

A AVERTISSEMENT! (e non-respect des consignes ci-dessous peut engendrer un risque sérieux de dommages corporels.

Le respect des consignes de montage et de maintenance est essentiel, Le non-respect des instructions de montage fournies par le fabricant du véhicule et
une lubrification inappropriée peuvent entrainer un dysfonctionnement de I'appareil.

Ne jamais actionner un roulement avec de I'air comprimé. Les rouleaux peuvent étre éjectés violemment.

Note

IRB a apporté toute son attention & I'élaboration et a la production de ce catalogue mais ne peut étre tenue pour responsable en cas d'erreur ou d'omission.
IRB se réserve le droit de modifier le contenu de ce catalogue sans avertissement préalable. Le contenu de ce catalogue est la propriété de IRB et ne peut étre
reproduit sous quelque forme que ce soit, dans son intégralité ou partiellement, sans autorisation écrite de IRB. Les informations des differentes applications
ne s'appliquent qu'a la date de publication figurant sur la couverture du catalogue.

A ACHTUNG! Missachtung der folgenden Warnhinweise kann schwere karperliche Verletzungen verursachen.

Wartung und Einsatz der Produkte miissen fachgerecht erfolgen. Die Missachtung der Einbauvorschriften des Fahrzeugherstellers und unsachgemaRe
Schmierung kdnnen zu einem Ausfall der Anwendung fiinren,

Drehen Sie Walzlager nie mit Druckluft. Die Walzkdrper konnten dabei herausgeschleudert werden,

Anmerkung

Dieser Katalog wurde von IRB mit groBter Sorgfalt hergestellt. Die Haftung fiir etwaige Fehler oder Weglassungen ist ausgeschlossen. IRB behélt sich das
Recht vor, den Inhalt dieser Druckschrift ohne vorherige Ankindigung zu modifizieren. Der Inhalt dieser Druckschrift ist geistiges Eigentum der IRB. Er darf
ohne schriftliche Genehmigung in keiner Form, weder als Ganzes noch in Ausziigen, reproduziert werden.

A A'ITENZIONE' La non osservanza delle seguenti raccomandazioni puo' creare seri rischi di danni fisici.

L'adozione di procedure corrette di manutenzione e manipolazione é di importanza fondamentale. || mancato rispetto delle istruzioni di installazione del
costruttore del veicolo e una lubrificazione scorretta possono danneggiare |'attrezzatura.

Non utilizzare mai aria compressa per far ruotare un cuscinetto, La forza dell’aria compressa pud causare |'espulsione ad alta velocita dei rulli.

Nota

Il presente catalogo é stato redatto a cura di IRB la quale, in nessuna circostanza, potra essere ritenuta responsabile per eventuali errori o/e omissioni in esso
riscontrabili. IRB si riserva il diritto di modificare il contenuto del presente catalogo senza preavviso. Il contenuto di questo documento é di proprieta di IRB e
non puo essere riprodotto - integralmente o in parte — in nessuna forma senza autorizzazione scritta da parte di IRB. | dati delle applicazioni valgono soltanto
fino alla data riportata sulla copertina.

A AVISO! ando observacao dos seguintes avisos podera resultar num risco de danos pessoais graves.

A manutencao e 0 manuseio apropriados sdo muito importantes. A nao observacao das instrugoes de instalacao do fabricante do veiculo e a lubrificagao
inapropriada podem levar a uma avaria do equipamento.

Nunca gire os rolamentos com ar comprimido. Os roletes podem ser projectados a alta velocidade.

Note

A IRB dedicou um especial cuidado a pesquisa e elaboragao deste catdlogo, mas nao pode assumir, em qualquer circunstancia, responsabilidade por
eventuais erros ou omissoes. A IRB reserva-se o direito de alterar o contetido deste catalogo sem aviso prévio. Todo o conteddo deste catalogo € propriedade
de IRB e ndo pode ser reproduzido, em qualquer meio ou forma, no todo ou em parte, sem a permissdo escrita de IRB. Os dados relativos as aplicagoes
poderao aplicar-se apenas até a data de publicagdo do catalogo indicada na capa.




Ry —

METAL SEAL RUBBER SEAL SNAP RING
zz RS NR

IRB reference Dldmelnsu[))ns |(mg1) IRB reference Dldmelnsu;ns |(mr;)
60002RS 10 26 8 6206 30 62 16
60002z 10 26 8 62062RS 30 62 16
6001 12 28 8 620627 30 62 16
60012RS 12 28 8 6207 35 12 17
600127 12 28 8 62072RS 35 72 17
60022RS 15 32 9 6207272 35 12 17
600227 15 32 9 620827 40 80 18
60032RS 17 35 10 62092RS 45 85 19
600327 17 35 10 62132RS 65 120 23
60042RS 20 42 12 6222 110 200 38
600427 20 42 12 6228NR 140 250 42
60052RS 25 47 12 63002RS 10 &b 11
600527 25 47 12 6301 12 37 12
60062RS 30 55 13 63012RS 12 37 12
600627 30 55 13 630127 12 37 12
6007 35 62 14 6302 15 42 13
60072RS 35 62 14 63022RS 15 42 13
6007272 35 62 14 6302727 15 42 13
60082RS 40 68 15 6303 17 a7 14
60082z 40 68 15 63032RS 17 a7 14
60727 7 19 6 630327 17 47 14
60827 8 22 7 6304 20 52 15
62002RS 10 30 9 63042RS 20 52 15
620027 10 30 9 630427 20 52 15
6201 12 32 10 6305 25 62 17
62012RS 12 32 10 63052RS 25 62 17
6201727 12 32 10 630527 25 62 17
6202 15 35 i 6306 30 72 19
62022RS 15 35 11 63062RS 30 72 19
620277 15 35 11 6306NR 30 72 19
6203 17 40 12 630627 30 72 19
62032RS 17 40 12 63072RS 35 80 21
620327 17 40 12 630727 35 80 21
6204 20 47 14 63082RS 40 90 23
62042RS 20 47 14 630827 40 90 23
620477 20 47 14 63092RS 45 100 25
6205 25 52 15 63102RS 50 110 27
62052RS 25 52 15 6328NR 140 300 62
6205727 25 52 15 69072RS 35 55 10

We can help you with other references. Consultar para otras referencias. Pour d'autres références
vous pouvez nous contacter. Fragen Sie uns Uber weitere Teile.



Special references

IRB reference |Cross reference LGS (Ul
d D B

8566 4209ATNOMT33VB2669 45 85 23
8577 60072RS1C3 35 62 14
8707 6203C3 17 40 12
8018 6206RS1C3R196 30 62 16
8556 62072RS1C3QE6 35 72 17
8557 62072RS1C4 55 72 17
8034 6207C4 35 72 17
8015 6207RS1IMT33BR196 35 72 17
8511 6208C3 40 80 18
8558 620940VT125C 40 85 19
8035 622052RS1 25 52 18
8352 622062RS1C3 30 62 20
8561 622082RS1C3 40 80 23
8517 6268C3 28 58 16
8563 6303C3 17 47 14
8708 63042RS1C3 20 52 15
8500 6305CEQEG 25 62 17
8099 6306322RS1C4VB038 32 72 19
8633 63082RS1C4 40 90 23
8636 63082RS1C5 40 90 23
8560 6309VT125 45 100 25
8024 7304AE1 20 52 15

We can help you with other references. Consultar para otras referencias. Pour d'autres
références vous pouvez nous contacter. Fragen Sie uns Uber weitere Teile.



Product for afitermarket applications

WHEEL BEARINGS & KITS
TENSIONERS & TIMING BELT KITS
CLUTCH RELEASE BEARINGS
STEERING BEARINGS

SWIVEL PIN BEARINGS
CYLINDRICAL ROLLER BEARINGS
NEEDLE ROLLER BEARINGS

AIR CONDITIONING COMPRESSOR BEARINGS
SUSPENSION ARM KITS

DEEP GROOVE BALL BEARINGS
BALL JOINTS

Quality, Service & Technology

IRB Bearings
Rodamientos IRB Bilbao
Doctor Diaz Emparanza, 3
48002 Bilbao (Spain)

Tel. +34 94 443 14 00

Fax +34 94 444 (09 05

E-mail: irb@irb-bearings.com
www.irb-bearings.com



